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® The diagram shows the graph of

%

A
i

(=2,-3)

Which of the following shows the
graphof y = f(x +2)—1?

Y
3

e

Given that the points S(—4,5,1),
T(—-16,—4,16) and U(—24, —10, 26)
are collinear, calculate the ratio in

which T divides SU.
A 2:3
B. 3:2
C. 2:5
D. 3:5

@ Differentiate 2/x with respect to .

A 63
B. 2yxt
c. - 42
3vx
D. 22
3vx

@ The diagram shows the graph of a
cubic.

(1,2)

—

What is the equation of this cubic?
A y=—x(x+1)(x -2)

y=—x(x—1)(x +2)

y=x(x+1)(x—2)

O N w

y=x(x—-1)(x+2)

An equilateral triangle of

side 3 units is shown.

The vectors p and ¢ P

are as represented in the '
diagram. \

What is the value of p.g?
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@ at value of k does the equation x* — 5x + (k + 6) = 0 have equal roots? 3

@ If f(x) = kx®+5x — 1 and f/(1) = 14, find the value of k. 3

@ f(x) =3 —xand g(x )=%. x #0.
) =

(@) Find p(x) where p(x) = f(g(x))- 2
b) If g(x) = 3 ,x # 3, find p(q(x)) in its simplest form. 3
X
O Given f(x x*(2x — 1), find f'(— 3
@ Show that the roots of the equation (k — 2)x2 — (3k — 2)x + 2k = 0 are real. 4
@ (#) Given that x + 2 is a factor of 2x3 + x2 + kx + 2, find the value of k. 3
(b) Hence solve the equation 2x3 + x2 + kx + 2 = 0 when k takes this value. 2
@ In triangle ABC, show that the exact C
value of sin(a + b) is 2
V5 . 4
a b
A I 3 B
@ The diagram shows part of the graph of y = ke” >~ vt / y=ke"™
{(a) Find the value of k P 1
(6) The line with cquation x = 1 intersects the graph at P. 3 /
- 2

Find the coordinates of the point P.

(o] 1 x




